P Http://www.szroger.cn
RGFROST
I

;(;l-s ﬁ% Http://www.szroger.cn
Jane  1086-13913069929

AMERAAEEHERRAE

Suzhou Roger Auto Parts Co., Ltd.
mak IR BMPRESLELTE
ADD : 101, Tengyu Industrial Park, 107 Jinshan Road,
Suzhou, Jiangsu, China P.C:215000

HiE/TEL : 0086-13913069929  Http://www.szroger.cn

DM ERS[REERGBEREA

Suzhou Roger Auto Parts Co., Ltd.

DINRANSFERAGTRAE

Suzhou Rngar Auto Parts Co., Ltd.

® fii K]

® =7 &

i STSBMMRE L1072 il ocicin

ADD : 107 Jinshan Road, SND,Suzhou, Jiangsu, China o [E1ia
Email: sale@szroger.cn P.C:215000 o 57 A i

EHiE/TEL : 0086-13913069929  Http://www.szroger.cn ® = &liHi< iE 202158tk



AN=ilEp)

DHENSEFBEHERAT , BHOTUEFNHOSESTTEG. BNEREETHENETEZHNEZ—.
REFEUBRNRERECRNTR. B Z0AEZE R , WESET. EENE6 R,
EGRULEGRR. W&, SRR, REHE. TEE. RB. FAhAX, BESfR. BEEINSERE.

RTBEMNLRNFRMNESEF DN , BMNRENZENRFNFEHEENIERE |

HPHRABSKETFSARNERBEITSAER. HREREANSELE.

Company Profile

SUZHOU ROGER AUTO PARTS CO., LTD.We specializes in manufacture and export auto parts.

We are one of the Major suppliers for the after market.
The Company's commitment is to provide the quality products with the quickest delivery.
There are a wide range of Auto Air-con products, such as Compressors, Compressor Control Valve,
Compressor Clutch, Bearing, Condensers, Evaporator, Driers, Fans, Pressure Switch, resistor, Vertical Doors
and Gas Shock. In addition to our quality products at competitive prices, our prompt delivery
and high reputation also backup your choice!

Suzhou Roger has many agents in many different countries today. he will be strong group company.

H s CONTENTS
= T

JAPANESE 01-03
TR AR - 04-05
KOREAN

E FEERZRRI. ..o coevoee e 0506
DOMESTIC CAR

AMERICAN

GERMAN

[TALY&FRANCE

HEAVEY TRUCK & EXCAVATOR
éﬁx?aﬁmvnwe 17
SINGLE CAPILLARY C SERIES

SRR BEBIF T ..o 0D (0222
DOUBLE CAPILLARY F SERIES

ORIFICE RUBE SERIES.

DRYING AGENT SERIES

B BT, et 26-97
CONTROL VALVE SERIES

IS TRIRIET. oo 78
COLD STORAGE, FROZEN SERIES

PRESSURE VALVE

H 22 B 1

JAPAMESE

SUZHOU ROGER AUTO FPARTS CO-
Email:sale@szroger-cn

RG -58200 rcHsz01-1

FHR12 !
TOYOTA R12 |
|

047500-9072

RG -58201 rcHsz01

FHERFHR
TOYOTA LEXUS

447500-1730

RG-58202 rcHe20z2

*£HR134a
TOYOTA R134A
447500-9052

RG-58203 rRcHez02-1

#£MR134a
TOYOTA R134A
447500-0031

'RGFROST

RG -58204 rcheass

*£MHR134a
TOYOTA R134A
447500-1030

TR
& &

e o

RG-58205 rcHe204

FHEE
TOYOTA COROLLA

447500-9081

FHEE
TOYOTA COROLLA

447500-1610

RG-58205-1 RrcHez04-1

RG-58206 rcHa205

Hf g R/ EE
NISSAN
447500-1311

RG-58207 RcHszo7

AHCRV
HONDA CRV

88515-52010

RG-58207-1 rcHez207-1

AHCRV
HONDA CRV

447500-1580

RG-58208 rcHez10 RG-58209 rcHe210-1

RG-58210 rcHsz11

RG-58211 rcHe211-1

RG-58212 rcHeziz2

H+# G510 H+# G510 H 75534 BF/TES B s /4R
ISUZU G510 ISUZU G510 . NISSAN X-TRAIL NISSAN QIANLIMA . NISSAN SUZUKI
92100921 92100921 ' 92200-9H205 922004Y80A ' 503714-1550

e e

A

8y

RG-58213 rcHe214

HFE+
MISSAN PICKUP |
92200-15018H '

RG-58214 rcHez214-1

Hr R+
NISS5AN PICKUP
92200-15018H

RG-58215 rcHe215-1

Hr=pas%
NISSAN SUNNY
92200-4P002

RG-58216 rcHsz21s

HF=pExt
NISSAN SUNNY
92200-2W100

RG -58217 rcHea2z7

B X #
NISSAN TEANA
92200-5M000

RG-58218 rcHszay

F+41-350/370 :
ISUZU 1-350/370 |
447500-2961 !

RG-58219 rcHez239

FHERZ
TOYOTA PRADO
88515-3301083

|
1
1
1
|
|
1
|
1
|
|
|
|
1
|
|
|
A

RG-58220 rcHez240

FHR134a(=zV31)
TOYOTA R134a
447500-0031

RG-58220-1 rcHe240-1

FHR134a
TOYOTA R134a

RG -58222 RcHe244

15 134
[NEW

TOYOTA
447500-9052




20 20 SUZHOU ROGER AUTO FARTS cO- |
| RGFROSTR 02 it HhE - 57K Fg Focus on manufacturing, Keep onimproving H ggﬁ%g Jﬁﬁégﬂklﬁl Email:sale@szroger-cn RGFROST

@ &

o
e

L

A

=

RG-58224 rcHe3zs RG-58250 rcHe4zs

I

I

I

]

I

I

|

I

| i .

- r = |

) D P |
" i | ¥ ] a3 - o
e ¥ i :

I

I

|

I

I

|

1

= e s R A s S W . A

RG-58223 RcHez4s RG-58225 rcHe437 RG-58226 RcHs2ss RG-58227 RcHs267 RG-58246 rRcHe407 RG-58247 rcHeaos RG-58248 rcHe3r? RG -58249 RcHs4azs

RF B =E¥ == vy = FH [ G E AR == H [HHhGERR FHEELT BEEE B mittl.5L BHFERBR2URANI.OL r 10QEX-15 OR8ik2/3/6
NISSAN SUNNY MAZDA TOYOTA LAND CRUISER TOYOTA LAND CRUISER TOYOTA YARIS NISSAN PICKUP NISSAN NISSAN URAN3.OL i MAZDAZ2/3/6
047500-1730 KJ141GJG6E-01 447510-0071 447510-0071 447500-3070 92200-EB70B 922001HFOA 503714-1630C :

= >
fed

| : : : : : |
i I 1 I . | 1 I
[ ] [ [ i [ [ : _ [ | [
e‘ ‘-. i . ; : @ ﬁ.ﬁ .Q:. . . .
e | : : ; - i i :
N ; ; .' . 2 9 7 F . .
[ 1 1 I 1 | 1 I
I | i 4 | | |
RG-58227-1 rcHézs7-1 RG -58228 rcHs279 i RG-58229 RcHe284 ' RG-58229-1 rcHsz84-1 + RG -58230 rcHe4a4s RG -58251 rcHe4z7 | RG -58252 rcHe213-1 1+ RG -58253 rcHe213-2 1RG -58254 rRCHE453 ' RG-58255 RCHE457
| | [} [ | i i |
FHIER  EBEIL6(ER ) - KE=EEE24  RE=EFEEL4 C BEMIVETRAR =ZSAVRIN/ =8 - BFREE o BFRX EEIRFHALTIS C R EFINE
TOYOTA CAMRY . MAZDA 6 . MITSUBISHI ZINGER 2.4+ MITSUBISHI ZINGER 2.4 + LANCER NEW/NISSAN SUZUKI MITSUBISHI SAVRIN | NISSAN v MNISSAN SUNNY ' TOYOTA COROLLA(NEW)ALTIS)  NEW NISSAN SUCCE
447500-9220 : 5261J14A : 583714-1580 . 503714-1501 . MR568829 6F25 J1750-020 : 92200-16H08 : 92200-BYZ216 447500-4790 : 92200-2016H

.‘%

&

Hr
%

L Ty g N T .

- R4 :
RG-58231 rcHezss RG -58232 RcHse44s RG -58233 rcHe3as RG -58234 rcuHeaT RG -58235 RcHeirz RG -58256 rcH7o006 RG-58257 RcHe469 RG-58258 rcHe494 . RG-58258-1 RrcH-6494-1, RG-58259 RCHE396
E&/HiA A HBrio AH =ZTRITON FEEFHELE =WENIETE ((FhER) HEHREE HEE - FEAL XV . HTERE - FHRAL XV HFER2EHEER)
MISSAN /TIIDA HONDA BRIO HOMNDA . MITSUBISHITRITON TOYOTA VIOS MITSUBISHI OUTLAMNDER NISSAN X-TRAIL . VENUCIA,  SUBARU FORESTER XV . SUBARU FORESTER NISSAN
§2200-52010 447500-4650 447500-1770 ' 37410-G510 447500-3030 CSA3878009 | T1032332D T1015442)A ' 73531FL00O

N Sy nm

i i i . |

i l i i .'

i i — i i |

i a i l l

| i “ i i |

; ; : . ; ; .

i i i ceml i i ] i
RG-58236rcHezz2 | RG -58237 rcueasr i RG-58238 rcHe3sa y RG-58239 rcHesas +  RG.-58240 rRcHe3e3 RG-58260 rcHeas2 , RG-58261 rcHeass | RG-58262 RrcHe506 RG-58263 rcH7012 . RG-58264 rcH-7016
HIEBi B& L ERAAER/BFMA/ELS . OBEKA3 . ZEEFEMER12 L EEZ ZE S ARSKA ' RAHCRY . BFEE(#O)NV3S0 . HEs . FLAEECRY
INFINITI NISSAN ; TIIDA i MAZDA3Z . TOYOTAR12 . BENZ THAILAND SUZIKISx4 | HONDA CRV ; NISSAN, TIIDA1.6/1.8 , SUBARU. ®%G13/G23 ; HONDA NEW
92200-572010 ' 503714-1650 ' KJ14B32HAO02 ' 047500-9072 ' 1408300484 10QTEX-5 ' GZ447500-4930 ' 10QTEX-20 ' 73531FJ010 | 447500-3071A

RG -58267 rcu-7031 .

- - o wm
L e L

e [ i i -, e, i ™ — ™ i il T . e . i - " i

RG-58241 rcHsass RG -58242 rcHeao1 RG-58243 RCHs403 . RG -58244 rcHe3s3 RG -58245 RrcHs23s RG -58265 rcH-7027 RG -58266 rcH-7028

E=MR12 HFFURAN HirEg+ . EMR12 IEREDLOT/EN=E e HOB~EIERE HEBREDE0 ;
TOYOTA NISSAN URAN NISSAN LIGHT T . TOYOTA HAFEI SIMBO SIMBO NISSAN INFINITI J1515-40390 NEW
047500-9072 503714-1451 92200-EB70B . gss15-33010 [CEY MR568829 CMA387B004 DZ T93083A A4 -




20 20 4 o SUZHOU ROGER AUTO FARTS cO- |
_ RGFROST m EZidHhE - £55aKFg Focus on manufacturing, Keep on improving ﬁﬁﬁﬂ%ﬂfgﬁ gﬁﬁﬁ[@gﬂﬁgf__ﬁﬂk@ Email:sale@szroger-cn RGFROST

Y 1
e«

X
[

RG -58423-1 RcHe458-1 RG-58424 rcHeaTe

]
I
I
]
I
I
I
]
I
I
]
I
F
I
I
I
I
L

LN P TN TN 4 el BN ThE W me= o N N &
. = == R R . A . S W . W N e s A

RG-58400 rcHs203 RG -58401 rcHez3s RG Y-58402 rcHeza7 RG -58403 rcHe248-1 RG-58404 rcHs3az =) D] O FE 02-05 1,61
1 KF RITE HAE HE Rt AW 2k A2 HHER KIA K2/K4 KIA HYUNDAI/ACCENT
KA DAEWOQO HYUNDAI ACCENT HYUNDAI ACCENT KIA RIO K977775-D1000 T41623-0790 21910 i
1K2A1-61-J11 96387210 97604-1C100 97604-1C100 97626F-D200 o F;;Eﬂﬁr@ ; ; . i

DOMESTIC CAR

RG-58405 RrcHe3s1 RG-58406 rcHezis RG -58407 rcHe281 RG -58408 rcHs216 RG-58409 rcHez24 RG-58450 RrRcHez42 RG-58451 RrcHe252 RG-58452 RCcHe294 RG-58453 RcHeaar RG -58454 rRcHedte
A B B FHaNiE B HE % 2HR12 EEZZE R=IX o BRUNMIE K=th3

SONATA HYUNDAI SONATA HYUMNDAI HYUMNDAI HYUMDAI JINBEIR12 CHANGAN STAR DONGFENG ' MINI HONGQI CHANGAN ALSVIN
97626-3E00 97626-38000 976263C010 97604-17001 F108-CB5DA-02 HD0216002H 1001738210 7009072 : Iw0162173 H001650Z1601

e

Ot

RG-58456 RcHe421 y RG-58457 RrcHeaso

D i i B i s i i el v o i - s Y b ol i T

RG-58410 RrcHsz70 RG -58411 rcHez7e RG-58412 Rche2ss . RG-58413 rcHezss RG-58413-1 rcHez8s-1 RG-58454-1 RcHe416-1 RG-58455 RcHeaaz RG-58458 rcHea3s
DM/ E=EVVT AR R HERZEFUSOEE/HIER), DULiEM Bl tREh #RZ=T600/X5 SR, B kit EBEE SN = 51 IAEFEE
HYUNDAI TUCSON/ELANTRA WWT HYUNDAI COUPE MITSUBISHIFUSO/H1 | HYUNDAITUCSON . HYUNDAIELANTRA ZHONGTAI T600/X5 JINBEI RUICHI IVECO . BYD JINBEI
97626-2E100 SSA3878127 ATW00803 ' 97626-2E100 ' 97626-2D100 81070200002-B11 H510M7Y1016 51515-A0470 ' 4106461304 1602289H

; . . : =" | e . -_‘u*:‘ =

| | | S &3 22> |

i i i i ¥ i i — i

a i i O e | “@ Qe

| | i | e 7 | . . i

; I k ; ' aﬁ i i i [| i . . tﬂ'

| | . | "Q: e | a @ | e ‘

; ; : | 9 ; %, A

| | I | | |
RG-58414 rcHezze |, RG-58415 rcHesad . RG-58416 rcHeazz |, RG -58417 rcusaos | RG -58418 rcHesos RG -58459 RcHe440 . RG -58460 rcHess1  , RG-58461 rcHsass . RG-58462 rcHsazo |+ RG-58463 RrcHeass
B ZAIE L XTLEE . BREAE LW L RUE27L SN BE . HERER LY REATE R RY C —iEE
HYUNDAI . DAEWOO . HYUNDAISANTAFE |  HYUNDAI . KIA2.7L NEW HONGQI . NEW JINBEI . IYECO . IYECO . EAW XENIA
97604-26000 ' 96274639 : ' F108-CB5DA-02 | 1K53C61J12C G160215H ' 1620H4512 ' 51515-Q4614 ' 51515-D16H ' 7C1919849BA

o

RG-58421 RrRcHs439 ; RG-58421-1 rcHsa39

RG-58419 rcHezz RG-58420 rcHez7s RG-58422 RcHe444 RG-58468 RcHe483
T RO T N EE : ntEE WIESTAVIC2.7A3 RG-58464 RcHe4s3 RG-58465 RCHE465 RG-58466 rcHears ' RG-58467 RcHear? EZ2E{TM80
HYUMNDAI ATOS KIA OPTIMA HYUMNDAI MISTAR " HYUMDAI MISTAR SSANG YONG STAVIC2.7A3 KATEIEX3IX5 i e ] —ISEREXE0 I LRSIV AY CHANG' AN MBS0
A1WO00279A 97626-3E200 97626-3R000 : 97626-4P000 K011900008 L9984001 11668 KJ141B32HAODZ : A205 830 8400 8100120-ATO1

=
e [ i i -, e, i ™ — — i




+ B . Y SUZHOU ROGER AUTO PARTS CO- |
_ RGFROST m EZidHhE - £55aKFg Focus on manufacturing, Keep on improving @ﬁgmﬁjnﬂiﬁ %E%ﬂﬂﬁ@ Email:sale@szroger-cn  RGFROST

o e o 3 fﬁ. {“‘n .
@ 2 bt ¢ @

LA .e, ’.‘ LIS

o @

4

I I
| |
I i
I i
I |
I I
| i
I I
I i
I i o~ Ll
I i
| |
I i
| i
I I
i i
| |
L 1

l y
G-58470 rcHsaso RG-58471 RcHe4o1 RG- 584?2 RCH6495 RG-58473 rcHe4a97 RG-58500 rcHez1s RG-58501 rcHez19 RG-58502 RrRcHezr4 RG-58503 rcHs3a1 RG-58504 rcHezad
RG-58469 RrcHessa ZFIHES /HRBHG3 S ®550/750 LeiEiBsF3/&/B/Rm/ . iLIES3/A30 A R12 i E R134a R EEADRIEEE [ S Bl E
KREEE CHERY E5S RONGWEI 550/750 57.56.G5 JK703-27A0022Z CHEROKEE R12 CHEROKEE R134a CHEROKEE | JEEP BUICK
PICKUP Al15-8106010FC JQDY90001A F3-8106100 7701026533 55036188 52290890 ; 52099AE 52494043
ain &

@
et o o
L

e

C—

‘ET-'

RG-58477 rcHss07

@
@y

: R v .-.-- i
-

RG-58474 rcHeass RG-58475 rcHeso3 RG-58476 rcHesos RG-58478 rcHss08 RG-58505 rcHesso RG-58505-1 rcHeaso-1 RG-58506 rcHez72 RG-58507 rcHeses RG -58508 rcHe347
MiTE81.5/1.8/ ERRTCMTEIE —i5B30 S FTHEECS R R2i%S500 EH=, Kt T, Kt {302 T L EE BE/S

X3/KE/XV ALQAM4{]3D1 FAW B30 FI08GCY9AAD1 BMZ3-2100015§ CHEVROLET AVEO CHEVROLET AVEO CHEVROLET LUMINA I DODGE FORD

ALQAJ40079 FZ8107100-A 92205880 96539652 92117402 ' 540031 861219849A

-

, RG-58510 rcHe3ss

A @
y] K

RG-58511 rcHeas? : RG-58512 rcHea12

RG-58509 rcHeaas RG-58512-1 rcHea12-1

o e T e A e e e = = s e e S e

RG-58479 rcH7001 RG -58480 rcHro02 RG -58481 rcHy005 RG -58482 rcH7009 RG -58483 rcH7007 | B e g B =l ET ' 3RS R134A EiS-EIE R134A
REGTE)SSOHEBRE REESOHBRS R KRENME iTHAEN350.5350 B i s iy FORD MONDEO . FORD TRUCK FORD TRUCK

: N EoL AN FORD FIESTA  FOCUS/CHEVROLET/CRUZE .
7033247 SOP-60M009 ASCAJ40974 + F108FH3AADL MR925874 113263312 | 6Q9119849 AA | 55036189 55036189

I
I
i
I
I
I
]

F
I
I
I

RG 58515 rcHez73 RG-58516 RrRcHsaso

i o RG-58513 rcHe233 RG-58514 rRcHez4z RG -58517 rcHeass
RG-58484 rcH7o11 RG-58485 rcH7o010 RG-58486 rcH-7017 . RG-58487 rcH-7025 : RG-58489 rcH-7029 - |
it} i \ BRI EZER(E ) GlE Bl 72 2l , B=E GI8 I FHE
hEFEERR EEDX3 HiE. BhTFERE - BhE=I8730 EEEWF30
SGMW BACQJUN AVEO SOUEAST DX7 SCDD2020-9AHY ' 8100131-H2020-Y " 0834N08062 - BUICK SAIL BUICK BPV BUICK EXCELLE + OPEL GL8 BUICK BPV
: NEW : NEW 601229W 1890319 9073208 95431-85700 : 5247550H 9730595
& 1 , : :
ﬁg | : : : : : :
| B . , ; ' ;
St ’ | | L] | : | |
| | [] | | I |
' . . . | i | '
g an : : i Ir : : . |
i i | ) RG-58518 RrcHe3ss i RG-58519 RrcHsass , RG-58520 rcHe22s | RG-58521 rcHe229  RG-58522 rcHez230
RG-58490 rcH-7030 : | : : 8153 . Bk . jEEF . jEE . iAE
e =T AT | i " \ BUICK i CHEVROLET i DODGE " DODGE . DODGE
1534N519515043 il : ' | 10302742 10364923 ' D-4116499 ' 4205085 | 4596318AA




; RGFROST m %}Efﬁuiﬁ . ﬁﬁ}ﬁﬁ Focus on manufacturing,Keep on improving

=N 7N

AMERICAN

RG-58523 RcHs231

Ha KEBRAF
DODGE
4882343HB

Ha7
DODGE
4882343HB

R o o e i e e T e e T L e e s

RG-58523-1 rcHe231-1

G -58524 RcHezaz
IEHRED
CHRYSLER
550560252AE

RG-58525 RcHe286

H5F
DODGE
FEB171987

e T - e e e e e i et T T ST et R 3 s B | Tt

RG-58526 RcHe314

E5f
DODGE
E224030872C

=i 7 N

AMERICAN

RG-58543 rcHsazy
+2

SATURN

24426739

@
@

RG-58544 RcHezsz2

BiAH
KENWORTH

SUZHOU ROGER AUTO FPARTS CO-
Email:sale@szroger-cn

RG-58545 rcHez6s
HikER

KENWORTH
55055773A1

RG-58546 RcHeaT

Bikin
KENWORTH
71R8400 1676665C1

03] [rrrost

RG-58546-1 rRcHe373-1
BikER

KENWORTH
1676665C1

3

== &
l@

I'

(] R

i i f i i i

i i i i i i

! ] : : ! ' [ : ' e

i i i i i i t“ ! e i E‘E e. i &

[ | [ [ [ | _ L9 i e | [

; ; ; ; | ; e . ROy y . B o

i ; i i i i i - A L i L ¥ L_ I

| | i ] | | ] |
RG-58527 rcueaze |, RG-58528 rRcHeass , RG-58529 rcHeien ,  RG-58530 rcHe3sz i RG-58531 rcHs3s3 RG-58547 RcHe403 . RG-58547-1 rcHe408-1 , RG-58548 RcHe4is . .
=13 | SRS . TEIERE . EH A = 2 AVEOSTER . EHZAVEO . BERERHAC/B2.0 . RG-58548-1 rcH-6415-1 , RG-58549 RcHe33s
DODGE ; CHRYSLER i CHRYSLER , DODGE ) DODGE NEW CHEVROLET AVEO |, CHEVROLET AVEO ! OPEL v BB H RS , EEERE{#E=R134
5019218AA ' 55055773Al ' 55036079AF ' 416999 ' 4677334 9043390 ' H5495002 ' 25994366 ' 1000352807 Wl ' CHEVROLET

; : ; :_ L i % : : : : Q } | @ e

| | I I '. O | | ] | |\

i i i i : i i i i [ ]

; | i | k@ ’ | | i i \g “ G -

, ' - , ) L& , - B i

i i : i i i : I ' r
RG-58532 RrcHe3ed i RG-58533 rcHE366 i -58534 RrcHeas7? . RG-58535 rcHeads " RG-58536 RrcHease RG-58550 rRcHea4s . RG-58551 rcHesze ; RG -58552 RcHea17 , RG-58552-1 RCHE417-1 RG-58553 rcHeaz2a
HERYESMELAEE .  EERY : E% . B . 1853 Z=WW211/W204 s S E iETE L EEHERGE
CHRYSLER/DODGE/ . CHRYSLER : DODGE ,  OPEL ., HUMMER3 BENZ W211/W204 . CHEROKEE i FREIGHTLINER . FREIGHTLINER : CHEVROLET CAPTIVA
5019630AA ' 5019218BAE : 163036A 25997316F ' 19120829 A2128300284 ' 50051BH : P-BOA93674 . P-B0OB93674 : 615837C-100

RG-58537 rcHeass

TE
SATURN
$-25030587

RG-58538 rcHeass
Bk

KENWORTH
540054B5M

, RG-58538-1 rcH-6388-1

S EER
. KENWORTH
' 540057BSM

NEW

, RG-58538-2 rcH-6388-2 ,

. NAVISTAR
. 1696846C3

NEW

RG-58538-3 rcH-6388-3

BikRh
KENWORTH
540056BSM

'NEW

RG-58554 rcHeaas

Bl5E
BUICK
89025008

RG-58555 RcHez399

HRBRGLeEE/RE
NEW BUICK GL8 REAR/EPICA
93733230

= >

RG-58556 rRcHesaz
EiS/ACFTF TX9819

929-508

FORD/AUSTRALIA TX9431 |

Eh . r E
© @
¢e -@-
Sy

RG-58557 rcHe43e

REF R i2009
FORD NEW FOCUS 2009
9M59-19849AA

RG-58558 rcHes4n

Frak FEER
NEW CHEVROLET AVEO

16460320

RG-58539 rRcHs31s
EE

JEEP

19120829

' RG-58540 rcHsza7
 E#= /RN

, CHEVROLET

' 9043403

RG -58541 rcHs402
IEESE

BEIJING JEEP
560253AH

RG -58542 rcHe406

EERAR AR
USA AUSTRALIA FORD
118371C1

]
I
I
I
I
I
I
I
I
I
I
]
I
I
I
I
I
|

RG-58542-1 RcHe406-1

A IR R 2 R12
FORD TRUCK
134684073

RG-58559 RrcHeaso

CE A
NEW EXCELLE 1.5

16451323

RG-58560 RcHe4s2

BiXERT600
KENWORTH

. RG-58560-1 rcuHeasz-1
, EiRER

. KENWORTH

' 540446

RG -58561 RrRcHea6s

HBZEREN3
HB SAIL 3
90923291

i . = e, i ™ — — i

RG -58562 RrcHeass

SHEREE
ENCLAVE
3275057




*

RGFROSTR 1

RG-58563 RrRcHears

SEiRmE
JEEP
AA447500-16011

D %}Eﬁﬁlﬁﬁ . ﬁﬁ}ﬁ*ﬁ Focus on manufacturing,Keep on improving

|
|
|
|
i
I
|
|
|
|
|
|
|
|
|
|
|
L

RG-58564 rcHedso
EEER

FORD RANGER
Ucomellld

. = == R R . A . S W . W N e s A

RG-58565 rcHe4aa7
EEFE
AMERICAN JEEP
68164490AA

& o
ea o

-

e

RG -58566 RcHGass
ZEER=

AMERICAN CHEVROLET
52477944

L . I e

=N 7N

AMERICAN

’E @l'

RG-58567 RcHsass
057 RiE

05 JING CHENG
613521

AR KR

GERMAN

®
L

RG -58700 rcHez2zo

Fiw140
BENZ 140
1408300484

RG-58701 rcHe220-1

k124
BENZ 124
1248300814

= e s R A s S W . A

SUZHOU ROGER AUTO PARTS cO-
Email:sale@szroger-cn

RG-58702 rcHe234

k140
BENZ 140
1408300384

@
?.

RG -58703 rcHeze1

I
|
I
I
I
I
|
I
|
|
I
I
I
|
I
I
|
L

RGFROST

RG-58704 rcHezee

fruEd 12
PORSCHE
1772728

RG-58568 RcHe492

RG-58569 rcHes9s

RG-58570 RrcHsso0

RG-58571 rcHeso01

L e e g

e
3

RG -58572 rcHssoz

RG -58704-1 rcHézé6-1

RG -58705 rcHaszis

o = = e s e 3 A am § s s - R R

N
.1.: #

.-"-I-_: lI
=0 s
-~ LJ

RG-58705-1 RcHe315-1

RG -58705-2 RcHesis-2

I
I
I
i
]
|
I
I
I
I
i
|
I
|
I
I
|
I

RG-58706 rcHe3zi

165 B/ B/ Bt EEEE SE=HhE (#O) BEEEE HesE e Z11202/208/210 fEF|mEETW201 HSFREETW201 fEEEMEETW201 2126
REGAL AMERICA TRAILER CHEVROLET TRAILBLAZER FORD ECOSPORT KENWORTH BENZ 202/208/210 MERCEDES W201 MERCEDES W201 . MERCEDES W201 BENZ
M 23506186 3857948(2 F8695002 ' 52384190 601229W 2018300784 2018300784 ' 2018300784 126 830 0384

: i i . ., P i j :

| | r | ﬁﬁ?!!ﬂ?‘ — | | |

| | | : Q & : : |

' ! ' r Ziii; & ! | |

i i : . - % i i i .‘
RG-58573 rcHesosa ' RG-58574 rcHesos " RG-58575 RrcH7000 ' RG-58576 RcH7003 . RG-58577 rcH-7019 RG-58707 rcheszs i RG-58708 rcHsz2s i RG-58709 rcHs225-1 | RG-58710 rcHea1s  RG-58710-1 rcHe319-1
HOEmE2.4L SRR S L ESERE CIEE. B | #3203 . RRIEP . KREE L AR L RRIRE
IMPORT JEEP COMPASS OPEL MERIVA . GM . DODGE JOURNEY . GZ447500-4241 BENZ 203 . VWPOLO . V.WMAGOTAN . VW TOUAREG . VW TOUAREG
AA447500-4110 ' U39400001 ' 31404339 ' AA447500-3450 | 2038300184 ' 6Q820679A ' V-6Q0820679 ' 7L0820679A ' 7L08200679A

N Sy nm

= = e e e o ER oW e @

e @

e te
L O
y

l.'l_gi
RG -58711 rcHe34a

BHA 3 /R HE /iR
AUDI A3
1K0820679

RG-58712 rcHeaes

HjHQ7
AUDI Q7
7P08200679A

RG-58713 rcHez21

K #x20008!
V.W 2000
123 8301184

RG-58713-1 rcHE221-1

KA20008
V.W 2000
1238301184

RG -58714 rcHez222

KAREHEEEA
SANTANA
126 830 0584

L e L

RG-58715 rRcHe31e

S 30008 /995 FH
SANTANA 3000

RG-58716 RrcHez3s

#4140
BENZ 140
1408300484

|
|
I
I
|
I
I
|
I
|
I
I
|
I

i

RG-58717 rcH7004
HIRER. =E.

- 1BREEBSL, &L
' 5QD820.679A

RG-58718 RCHE317

EE55E60
BEMW 5 E6D
6411 6521 051

RG-58719 rRcHe324

ot 203/211
BENZ 203/211
1718300184




20 20 SUZHOU ROGER AUTO FARTS cO- |
. RGFROSTR 12 EZidHhE - £55aKFg Focus on manufacturing, Keep on improving %ﬁ%gﬁmﬁ fgﬁ%%ﬂkﬁﬂ Email:sale@szroger-cn (RGFROST

| : : .‘ : : g |

i i i i I i \h-_—" h;'g_r’ i

: : : : | : @ :

! ' : ! ! ! = ! |

. . . : . . Be * e . .

| ' ! | | - s0 e | |

| 1 1 I | | ] |

| | : : | : | : y
RG-58720 RcHe3za1 | G-58721 RrRcHe340 : RG-58722 RcH&343 v RG-58723 RrRcHs400 . RG-58723-1 RcHe400-1 RG-58743 RcHeadr | RG-58744 rRcHe44z2 : RG -58745 rcHe4s0 . RG -58746 rRcHe461 : G -58747 RCHE464
%3220 . SEDE90.E91. = . FEW, £, RI12 . F¥. £3. RI12 FO7R/SFE/3K E90 L RARERERIEG . ARER . EmjmA4 A5 Q5 . ERERIR/ PEI
BMW220 . BMW E90/E91 . BMW  BENZBMWR12 .  BENZ BMW R12 BMW 7/5/3 E9OQ i MNEW SANTANA i V.W GOL . AUDIA4 A5 Q5 . New lavida/jetta
8UW351239-361 ' 6411698 1484 : 64116981484-01 . 1238301184 . 1238301184 64119 289 832 : L34D820679 : 1K 0820 676H ; 8K0 820C 679A . 180820679

i . : . i . _emeT i : ; = =

: | : : -t =t R

; . . | Rl @ ; . @' - .

[ | i | | | | : |

| ! | | - e s s @ * e @

: | : | ¥ O; : el  SEE

| | | | - eV ! s | | .

i l : : _ : i) &2 l | : | : { €

| | i I TR S | | i |
RG-58724 rcHezi? RG-58724-1 RcHe217-1, RG-58725 rcHeatd  RG -58726 RrcHeass v RG-58727 RcHe4is RG-58748 rcHe4s? i RG-58749 rcHeare | RG-58750 RCHE481 RG-58751 rcueass | RG-58752 rRcHeass
ik E . EHEEJETTA . =202 | $35E MINI L FEW230/353220 Bl Al . FUS600  REAREFEE L =3i3/i8 L Z=
JETTA . A-B6N0820679A . BENZ 202 . BMW 5 MINI . BENZ 230/BENZ 220 AUDI A1 . BENZ S600 . V.W PORSCHE . BMW i3/i8 . BENZ
A-6N0820679A ' EFISZL201020606563.2 20283001 84 ' 64118390612 ' 2208300384 1S0820679C ' 2308300184 : 7L0820712 ' 64119287282 ' N8153002

' ' ; X - ; . .

: | e % . — — 5 — — BN = = | .

! I ) _— :. ' | | i [

: : e & g @& @ @9 & . € . :

E ' 'Q- ee” *es 0o - el e ' .—ﬁ e

: : . &> \ % N A B | @ ;

; i i L8 u_h__r i l_l | ; | i i

| | i [ J I | i e [
RG-58728 rcHeato |  RG-58729 rcHsaos : RG-58730 rcHes1sa |, RG-58731 RcHeats . RG-58732 rcHeazs RG-58754 RcHe493 . RG-58755 mrcHeass | _53?55 Y Niliaiasei HG-SBTSE RCH7013 . RG-58757 rcHroia
=L (6 ) | HRERT ' =OE60 ' LIEERTSATE ' EsEHRE FEOhMETE . BIREM. KRRE. | s {#A148971/816/590 | ZFEUGL C253/C205/C213
BENZ . SCANIA . BMW E60 . VWTS . CHRYSLER BENZ - 15E0EEH . 2008166798 § . PORSCHE - BENZ
T1011047TA 1342237 ' 64116921051 \ 7H0820679B | 5136101AA/AB 63383010384 ' 5Q0820679C : O  Cz4007500-4970 | A0998300100

—_ =

moE o Er mmom =  wm me
- 5

| ; | . |
: ! : : :
| | . | | | |
: : @*"’ @ l : . 2 . ] : |
| ! B_ - ' * __ | ! '
l . l | - : : ‘ — l l l
| | | ! REE-58758 RrcHr01s g f ! |
RG-58733 rchezss | RG-58734 rcusazez | RG-58735 rcuszzo.z |, RG -58736 rcHesze . RG-58737 rcHsazo U EIW166/ML350/ML300/ | RG-58759 rcH-7018 | RG-58760 rcH-7020 , RG-58761 rcH-7021 | RG-58762 rcH-7022
163 . FW203.220 . EEMANEE . IRIRI%ES80.60. . P16 GL320/GL350/GL450 . EEEiEQ7 | FEIBEEREE/W639 . EDRESXSEE f KYOEX9993
BENZ163 . BENZ 203.220 . MAN TRUCK . VOLVO $80.60 . BENZ168 BENZ : AMOB20679A oumae | BENZ vew I new IR NEW
163 830 0084 ' 2208300384 ' 14083004 84 ' 503714-1331 ' 1688300284 A1668300284 | | ARR300484 : : |
i G : i
‘0 @ - =

|

52_‘?;-'

RG-58764 rcH-7024 .

]
I
I
I
I
I
F
I
I
I
I
]
I
I
I
I
I
|

e [ i i -, e, i ™ — i

RG-587 38 rcHe43s RG -58739 rcHs43s RG-58740 rcHes4a1 | RG-58741 rcHsaas RG-58742 rcHesat RG-58763 rcH-7023

S DE38.E39.E46 KOARERTSEE EIFRFIESD . E£OX5E70 GT 530 KART4 /BRI ETERRLS430 EOEEN525/530i/740i :
BMW E38 E39 E4b V.WT5 REAR BMW 3/E90 , BMW XS5/E70 VWT4 88515-50170 NEW 64119361710 "
64 118 371 449 JHOB820712 64119226078 ' 64116968 202 :




RGFROST 14 %i}fﬁﬂiﬁ . ﬁﬂ*ﬁ Focus on manufacturing,Keep on improving

RG-58800 rcHezzs

TREL405
PEUGEQT 405
A1688300284

R o o e i e e T e e T L e e s

RG-58800-1 rcHe2z6-1

fRE405
PEUGEQT 405
Al1688300284

. = == R R A . . W . . N e s &

RG-58801 rcHe24s

RG-58802 RrcHez2461

TRI306
PEUGEQOT 306
F-46723617D

BIEREKIE

ITALY&FRANCE

RG-58803 rcHsz27s

TR C4(£10.2)
CITROEN C4
1001738351

e =y T oW e omw oy mE oER W T OmR Omm oo pOEN W OEROp EW mR mm W

B RIZHLAZ Ak )

HEAVEY TRUCK & EXCAVATOR

®

RG-58850 rcHes19

=
MAN

DAF95XF

RG-58851 rcHesas
BHE&E

HINO TRUCK
447500-2190

RG -58852 RcHes15

P
KOBELCO
447500-1750

SUZHOU ROGER AUTO PARTS cO-
Email:sale@szroger-cn

RG-58853 rcHests

RiXAT
HOWO A7
WG1664820014

R e i . i B, v i i —_ s i I T K

RGFROST

RG-58855 rcHes12

HiifEHl-3
HITACHI
34740-G-510

—

@

&F @
¥

| : : : : : : {
i | I i | | " I
- I I i I .. I I I I
® | : : : : : : .’
L | ; ; , o ; i . ;
I i 1 I i i i |
| ] ] ] | ] ] ]
RG-58804 rcHeze2 |, RG-58805 rcHearo | RG -58806 rcHesase , RG-58807 rcHesz +  RG-58808 rcHs3ss RG-58856 rcHes13 i RG-58857 rRcHes14 . RG-58858 rcHests . RG.58859 rcHeszo ; G-58860 rRcHesz2
BEEHE . B . B . HEE . ERE#EC4 INKR-THEHL  EIfR225-788H | BSAERF3000 L BEEEFAR L —iREE
VOLVO TRUCK A:#14.6 «  RENAULT . RENAULT . NEW CITROEN . CITROEN C4 KOMATSU-7 . HYUNDAI 225-7 ~ SHAANXIDELONG F3000 EISERHOWO) . FAW AOWEI
31101177 B:2146 ' 7013346 : ' 651362UH ' 72438716 1001738210 ' F108-JD6AA-03 ' 447500-3100 55036188 - 88515-16040
— — -
& @
@ @ |
e o ¢
o) ® “
L

= e o a e a am S e S R

b mr mm P mE o EER W P OER OmE OER TOEW OER BN T ER EN OmEC] EE W WECE

|
1
|
|
1
|
|
|
i
|
[
|
1
|
L]
i
i
1

D i i B i s i i el v o i - s Y b ol i T

HG:SBBEE RCHE527

RG-58808-1 rcHe3a5-1 G-58809 rcHedad RG-58809-1 rcHeazd-1, RG-58810 RcHears RG-58811 RcHe4s4 RG-58861 rcHes23 RG-58862 rRcHes24 RG-58863 rcHes2s RG-58864 rcHesze PR RN
mE ERESEC2 C3(211.2) EREESFYE SRR EEET BiEEHE ESEin /R ERHANSFEES07 R12 R K FFIEH palipd
FORD CITROEN C2 C3 FORD FIESTA RENAULT FLUENCE REMNAULT LOGAN HOWO TRUCK/AOWEI DOMNGFENG DRAGON 507 R12 | DONGFENG TANLONG DAEWOO HUALING HEAVY TRUCK
861219849A 665406R MRG25874 FORD MONDEO A:@10.2 669603EB Ap10.2 447500-1440 1534N530 81067245-016 88515-33010 11703051
| | i [ [ | i | L l
: @ | : : | : @ @ | BT | @ @
e e | | 5 - SRy . ey ST
| o | i | | | i ' | '
9 = | | | ! | N | y ny e
l ‘. : ; l l : | l
RG-58812 rcHe3sto | RG-58813 rcHe4sz i RG-58814 rcHess2-1 , RG-58815 rcHearo : RG-58816 RCHs471 RG-58866 rRcHes2a i RG-58867 rRcHes29 i RG-58868 rcHes3o i G-58869 rcHes31 | RG-58870 rRcHss536
ARETM150 . B3 . HEE307/308/807 . FREBX3/206 . FREL 307/3085BX3 ey . HEFIBET L INE-8 L RIRE R . EFUEE
NEW HOLLAND TM150, CITROENC3 | PEUGEOT307/308/807 , PEUGEOT BX3/206 . PEUGEOT 307/308 BX3 NEW DELONG i SCANIA i KOMATSU-8 ' VOLVO | BENZ ACTROS
81874718 : 6F668757W j 68019148AA . X887364M - W7497001 DZ61841065 : 1342237 : 447500-3600 : 10M7Y1 ,‘ 7J009315TBF

RG-58817 RrRcHear2

¥REL 3008/T88
PEUGEOT 3008/T88
524131

RG-58818 rRcHea73

FREER408/T93
PEUGEOT 408/T93
523871B90

e R R e T S _— . == e

RG-58820 rcH7008
fal/Ri%. B EER

ALFA ROMEOD
52488581

r me w7 mEr omw o mE P omE WY OmR P OmECEr N R OCEE Er OCEN W R mmCmr W

RG-58871 rcHesaz

Bk LIZHE
CHENGGONG

97604-26000H

RG-58872 rcHesss
=—BF

SANY TRUCK
55036188H

e e e e B o s e

«
L

RG-58873 rcHes34

A= ]

GENLYON/IMC
90487735

RG-58874 rcHesio
HiSiLF NS

BEIBEN HEAVY TRUCK
A0 :5/8-18UNF

HO : 3/4-16UNF

88515-H160

e [ i i i, . o e, i ™ i il T . e . i - " i

RG-58875 RcHes

453 20BEH1
CATERPILLAR 3208
A0 : M16X1.5
HO : M20X1.5

92200-59G00




s . SUZHOU ROGER AUTO PARTS CO-
£ ©
‘n‘ 5

—
g @

[ 1 = [ . f N : :

: : . : : - - | : : l

: - ST | ey &y : ' :

I i I 1 o __J* I [ I [ i
RG-58876 Rousst” | pG_5gg77 meuesr | RG-58878 . RG-58879 moussss . RG-58880 Ressao RG . RG | . RG ) . RG
fES #IEF 2000 R134 | " : " wianidi = : g -58901 rcHss61 | -58902 RrcHess2 | ! -58904 rcHesea ! -58905 rcHeses
SHAANXI DELONG F2000 '+ iLEElIE . ETEEAER  BATSG L -9 BEISISEX3000 o HEENG |  KiER134 C RIRREEHLLISOF
AO : M16x1.5 . JIANG LINGY . NEW HOWO  HOWO A7 Ir HYUMNDAI-9 Delong | CAMC i + DAYUN AUTO R134 . VOLVO EXCAVATOR
HO : M22x1.5 | ' DS46011021 ' 712W61942 ' F108KP1AA 410646 ' PO6HO83000 1 ' 8107DY03000 ' 2034N544-1B

F108FH9CAOQL

L I i‘.‘g

>

L I
e

RG-58882 RrcHes4z
FF =225 60-7

RG-58910 rcH-6570

i i
i |
i i
1 I
i I
i I
|%,ﬂ. i
i I
- & f
§ 4 \
1 i
i 1
1 |
i I
i i
1
]
i

 EE s S A R . e e e e
= ] - - - - o m - e

b e T W e . N W

RG-58881 RcHes41 DAEWOO 225 60-7 RG-58883 rcHesas RG-58884 rcHes44 RG -58885 RrcHesas RG-58906 rcHe566 RG-58907 rcHess7 RG -58908 rcH-s568 RG-58909 rcH-6569
H#300 A :M16x1.5 BeEE FARL/FES0T 134a BC215-72# INL(ESEE) 1L#2N800 FRMFEIEKL/D320 Rl ETE EH i
HINO 300 HO : M20x1.5 JOINT HEAVY TRUCK DAWEI(NEW)/BALONG507 134aHYUNDAI 215-7 KOMATSU (BRAZIL) JMC N800 PD63201150 NEW
447500-4050 92200-D0101 K70601 41006544 ' OKOBABLEL3 1S400001 ELN3-19849-AA
O BT

OIL - COOLED '#’AL\I"E

ww

X

3
y

RG-58890 néuassn

b mr mm P W CEER W P OER OmE OER 7w OER BN T ER EN OmEC] EE W WECE
- e wm § oE we ow - -_ew mr b m m owm b

D i i B i s i v e v o i - s Y i e i ol i ™

RG-58886 RcHeEs546 RG-58887 rcHes47 RG-58888 rcHes4s RG -58889 rcHesds WEFLE SIRE
810 6QXA 010 00 SAXI DAYUN N21651820516 . KATO EXCAVATOR PANINCO FERLL.6T, BHREL6T . ER= . LiBiEHA B
126547H000 N776200Z ' M-MR201955 555-136D 92219753 ' THA-12T004 ' THA-12T007 THA-18H916

: 'RG-58893 rcHessa j
RG-58892 RcHess2 EENEE /I ' RG-58894 rcHess4

oM T ER BN, ER P O ER OER TEGOR BN HET NN BN EW T 70 mr o EW mE O}
e ™ i e T s B i e Y o e i i T i e e il —

RG-58891 rcHess1 RG -58895 RCHess5 RG-10004 RG -10005 . RG-10006 RG-10007
ML) 6 EHr- 5 'DONGFENG KINLAND -NEW f" ®=L =—-thiEN _ L Bl Bk Hilk, SR
FAW JIEFANG J6 BEHR - XCMG HANMA SANY 75C EXCAVATOR t + WA/GL8/UD WT/UD
3571-1312F EC455003 , G167215H . 97604-26000 : ., 24236555 1S626661

RG-58898 RrcHesss

[
|
]
1
i
|
|
|
|
|
|
i
[
1
i
|
|
i

r me w7 mEr omw o mE P omE WY OmR P OmECEr N R OCEE Er OCEN W R mmCmr W

e e e s B e e T R
e [ i i i, . o e, i ™ i il T . e . i - " i

RG-58896 RcHesss RG-58897 rcHess? ' RG-58899 RcHesss G -58900 rcHesen RG-10008 RG-10009 RG-10010 :
BS i@ EEHM3000 EHSHE BERE . EHEE =Rk Al5E. M 1902260722 140341 :
Delong HOWO . GET LUCKY NEW SANY AGITATING LORRY WT/UD b = :
S0051BH LG1613822016 A:M&8 ' H1300YG89 A2058308400 242365554 ;




&3] ¥ CH 25 0 C, ¥ S5UZHOU ROGER AUTO FARTS CO- |
. RGFROST EZidHhE - £55aKFg Focus on manufacturing, Keep on improving gmg%ﬂxﬂfﬁciig i%ﬁgﬁLﬁv cﬁzgs Email:sale@szroger-cn 19§ IRGFROST

2 i P

R .

88515-16040 88515-16040

RG-58001 RG-58001-1 RG-58002 RG-58002-1 RG-58014 RG-58015 RG-58016 RG-58(
8 : %[ (TOYOTA) 1 %8 : [ (TOYOTA) F8 : DEIK (MAZDA)R]2 %8 : BEiX (MAZDA )R12 T melnEA | 8 : A (GM) 5 ;&M (GM) 8 : B8 (NISSAN )
AL 1 9/16-18UNF : A :9/16-18UNF AL : 5/8-18UNF AL : 5/8-18UNF SE M22e1 8 | AL 3/4-16UNF A @ 3/4-16UNF AL 1 M20X1.5
0 3/4-16UNF : HI : 3/4-16UNF $0 : 3/4-16UNF O 3/4-16UNF Fff : OF 4 - 0.5T-2.0T : H0 : 5/8-18UNF 0 : 5/8-18UNF HO : M16X1.5
Aef - OB : mft : O ALft : O B : OR OE:447500-1451 ; B OR! Eg PR Bef : O
$I48 . 0.5T-2.0T | HISE ; 0.5T-2.07 HISE : 0.5T-2.0T HSE : 0.5T-2.0T AR | HISH : 0.5T-2.0T SR : 0.5T-2.0T HSE : 0.5T-2.0T

i |

.' i i | | |

I 1 | | | |

] 1 I | | |

; : : i | i

; i i | . | |

i : i I [ | |

’ ! ! ! | & !

| . . - © . .

] 1 I | | |

; : ! ! ! !
RG-58003 RG-58004 : RG-58004-1 i RG-58005 RG 55018 . RG_s5g8019 : RG_58020 | RG 58021
FE ; FH (TOYOTA) : 8 . £M (TOYOTA)134a ' Z8 : [ ( TOYOTA ) ! FE : B2 ( NISSAN ) #EH - 3545 GM.FORD.JEEP - : TH ! I -
AR : 5/8-18UNF 1 AF : M16X1.5 . A : M16X1.5 | AR : M16X1.5 AL : 3/4-16UNF XD Se-TeE . AT MRS . X[ - 3/4-16UNF
1 ¢ 3/4-16UNF : H0 : M22X1.5 : O M22X1.5 : HO : M20X1.5 %Er il | W[ 5/8-18UNF : WO - M16XL5 | W] - 9/16-18UNF
[ = S i : ALt . ORY ) B - OR : i . OfY @ - 0.5T-2.0T . i om | A Ol ; Al - Om
HlisHE : 057T-2.0T . B¢ : 0.57-2.0T . #iHE - 0.57-2.0T . Hl® : 0.5T-2.0T OE:G-5910590 | HSE - 0.5T-2.0T . £:48 - 0.5T-2.0T | S8 : 0.5T-2.0T

! 91171919 ! 91171919 ) 92200-59201T f ; !

L. 1

1!

S TR S L TR T R

2

4

&8 . 0.5T-2.0T
M-MER201955

wl&E : 0.5T-2.0T

RG-58006 _ RG-58007 RG_ 55008 RG-58009 RG_cg022 RG_gg023 RG -58024 G-58025
R -2 (HONDA) | FE: A (HONDA) 48 : BEK (MAZDA) T 1) : TRASIFE /2R ( NISSAN) w8 - @ (HONDA) T %%  M16x1.5
AL M16X1.5 1 A : 9/16-18UNF . £/8.18UNE AL :5/8-1BUNF AL M16x15 , AR MI6ALS HET - M20x1.5
HO : M20X1.5 ' H : 3/4-16UNF Qg : 3::4:%6””'; I : 3/4-16UNF %Elg = Eﬂéﬂﬂ-ﬁ i“g : ;ﬁigﬂﬁﬁ HO : M20X1.5 =y T
Bt : OR ! B OB B Bof @ FEL SSm - 0.5T-2.0T e Roty - OR $;48 : 0.5T-2.07
#SE : 0.5T-2.0T : HS® : 0.5T-2.0T ggi :%.ETJ.UT w1 0.57-2.07 OE:9200-D0101 g’g ' ?%.SFE.IJT #&® : 0.5T-2.0T

.' . | | ; |

i | i I | [

i 1 i I I I

| i | | i |

| : | | : |

| ' : I | l l l

i i i I [ [

’. : : : : |
RG-58010 | RG-58011 : ;%-5;%1(1{32““ | gg-flﬁgtlgm } ﬁngBHZE j g?ﬁﬁnmm; | _%-53029 | 5-53035

: NISSAN ‘ : TOYOTA ! : | ; | ! : | 3 | :

ﬁ% . ﬁﬁil_f } | iﬁjﬁfﬁum : . AO : M20X1.5 | A : 3/4-16UNF AH :3/4-16UNF . A0 :MI16X1.5 | AL : 5/8-18UNF | AL : 3/4-16UNF
W - M22X1.5 : 0 - 9/16-18UNF | HO : M16X1.5 ; $03 : 5/8-18UNF M : 9/16-18UNF | M0 M22X1.5 ; $i0 : 3/4-18UNF ; 0 : 5/8-18UNF
Kbt - OB : Tl OR i B . O | Lt OB Eﬂﬁ:ﬂﬂ . [Eff: O i B PR i Aol - O

, . w8 0.5T-2.07 | o/ 0.5T-2.07 HlieE 1 0.5T-2.07 L BeE 12T . SIS 1.5T-2.0T . HSH : 0.5T-2.07

I | | | | |




_ E:I FEiKEC/ W ER KEFERS W BB iEF R 5| SUZHOU ROGER AUTO PARTS CO- . _
| RGFROST EiF5E - $8Z5KFE Focus on manufacturing,Keep on imPrﬂv%; SINGLE CAPILLARY C/DOUBLE CAPILLARY F SERIES DOUBLE CAPILLARY E SERIES Email:sale@szroger-cn 218 RGFROST

RG-58036 RG-58037 RG-58038 RG -58040 s 00 T B Fldd gL L T—
# - R AL : 3/4-16UNF 8 EAE(GM) g o ) ; : : =ads) A : 9/16-18UNF

= AL M16X1.5 A : 5/8-18UNF A0 M16X1.5 :

A0 : 3/4-16UNF A : 3/4-16UNF i : 5/8-18UNF AL : 3/4-16UNF HIT: M22X1.5 : H - 3/4-16UNF HO : M22X1.5 %Ea‘ﬁ?ﬂgﬂﬁm

40 : 5/8-18UNF HI :9/16-18UNF Bdis - o8 O : 5/8-18UNF TMrER - M12X1.25 : T - 7/16-20UNF TSR - 7/16-20UNF AR - ORY

s - §off | OB B - 0.5T-2.07 4 : OF! Bof : OF . RfEFE feft 0% OEM-MR168024

) - 0,5T-2.0T S - 0.5T-2.0T HiaE - 0.57-2.0T S48 : 0.5T-2.5T | HSE : 0.5T-2.5T S48 05T-2.5T Lo

Hi¢E : 0.5T-2.5T wli® : 0.5T-2.57

: RG-58043
RG-58041 ~ RG -58042 %8 : ji% (FORD RG-58044
R 2000 ( TRANSIT) . E#:ER (GM) M : 5/8-18UNF FH ; H& (DODGE) RG-58109 RG-58110 RG-58111 RG-58112
A : 3/4-16UNF ' O :20X1.5UNF H : 3/4-16UNF A : 3/4-16UNF R 5 B8 ( NISSAN) il EE £ (TOYOTA)
T : 5/8-1BUNF ' O 18X1,5UNF Eof4 - ORY HT : 5/8-18UNF A : 5/8-1BUNF A0 : M16X1.5 A0 : 3/4-16UNF AQ : M16X1.5
B - OR R Om SRR - 0.5T-2.0T Aot - FRU tﬂg : 3/4-16UNF HO : M20X1.5 %E%EHE-IEUNF %gﬂmﬁfj}{i 5
SE 0 ET. om0 ET. O ET T8 7/16-20UNF T8 - M12X1.25 788 1 7/16-UNF 78 ; ;
HISE : 0.5T-2.07 . Hl&E:05T-2.07 2L 2719849CA HiSHE : 0.5T-2.0T e R O B O i QR
| | A 0.5T-2.57 $ISH  0.5T-2.57 S48 - 0.5T-2.5T S48 0 0.5T-2.57
i 1 [
i ' | . | .
: : : | i |
i i | | I |
| | | : | : (
' ' | : : :
RG-58045 . RG-58046 : : ; ; |
A B (GM) - K - \) | : : ¢ |
A M16X1.5 ' A0 :3/4-16UNF : : ; ; ;
$HO : M20X1.5 B0 : 5/8-18UNF ! | RG-58113 . RG-58114 . RG-58115-1 . RG-58116
it . ORd o B Oof | | ZEHY ! ﬁ% : _ﬁ,ﬁﬁmﬁzmi ! T/ [E8 ( NISSAN) ! 8 RH ( HONDA)
HSE - 0.5T-2.0T ' BIiSE : 0.5T-2.0T : ; A ©5/8-18UNF | B0 58 18UNF | A0 : M16X1.5 | A0 : M16X1.5
B F | F®SE - 7/16-20UNF | $0 - M20X1.5 | HO - M22X1.5
. S | mgom ! 8728 - M12X1.25 ! 8% : M12X1.25
G ﬂEﬂ%EﬁHﬂFﬁﬁJ #iSH - 05T-2.5T | OFP-34-118 : Eeit : OFY | Eiy . O

DOUBLE CAPILLARY F SERIES

-

it T ke e ' i i U e i i e i g, e i vk o i i

RG-58101 RG-58102  RG-58102-1 RG-58103 RG-58104 RG-58117 RG -58118 RG-58120 RG-58120-1
=8 . £H ( TOYOTA) F8  BBA (MAZDA) | FE : BHIA (MAZDA) T8 . EM (TOYOTA) /[IREEEID' R ML ( HYUNDAI) /48 B 7=D22 A A . =3 ( MITSUBISHI) ER RRE (VOLVO) FE :B& ( NISSAN)
AL :9/16-18UNF(®7.6) AL :5/8-18UNF MO : 5/8-18UNF " A :9/16-18UNF( @ 8.6) A M16X1.5 ALl : 3/4-16UNF AL : 9/16-18UNF A D M16X1.5 Qg;mig*;-g

Y40 : 3/4-18UNF(911.9) W[ : 3/4-16UNF ' W0 : 3/4-16UNF I : 3/4-18UNF(213.1) 0 : M20X1.5 HO : M16X1.5 O : 3/4-16UNF $0 : M20X1.5 TeE - M12X1.25
Seiree - 7/16-20UNF | T8 : 7/16-20UNF | SE{BiE2 : 7/16-20UNF SEigrsR - 7/16-20UNF {52 © M12X1.25 88 - M12X1.25 &8 : 7/16-20UNF 788 : 7/16-20UNF B OB

Bf : OF . Bt o Ef4 : OF NEW RS Bef¥ - OR AfF O et - O Eeft : O BoM : 0.5T-2.5T
S48 - 0.5T-2.5T '\ HISE 0.5T-2.5T | #liSE: 0.57-2.5T W S E 0.5T-2.5T HSHE : 0.5T-2.5T B4 - 0.5T-2.5T S48 - 0,5T-2.5T S48 - 0.5T-2.5T

1-8-97049-428-0 1-8-97049-428-0 -




GEFEF P SUZHOU ROGER AUTO PARTS CO- .
MLl BEJ 15501 . tyatR MM rocuson manuactring Kes on mproving__ oauaiecammuanes st e Emai:sale@szroger-cr 23] [RGFROST

(””_"“\

|
|
: 1
; | | T |
| | ! |
| | | - |
; : iy [— — | A - |
- ; ; o R =
RG-58121 RG-58123 ' RG_58124 i RG _58125 | ' . |
i% i Ef?—ﬁuﬂ?#w I £ E5 (BMW) I 2l - ! 8 :
WO : 3/4-16UNF : M : 5/8-18UNF : A0 : 5/8-18UNF : MO 2 5/8-18UNF RG-68001 : RG-68002
T 7/16-20UNF , H0 : 3/4-16UNF , O : 3/4-16UNF i 0 - 3/4-16UNF Color:Grey . Color:White
B - F83 . 7/16-20UNF - FW58 - 7/16-20UNF - T8 - 7/16-20UNF For:Toyota . For:GM
O : ¥-1215023-1 : Hof¥ : OR ; ACiF : PR : B - Fal Dia: 0.072 ' Dia:0.072
. 58 0.5T-2.5T . S48 0 0.5T-2.5T . SE05T-25T ,
| | |
; : o
i |
i i RG-68003 i RG-68004
| | Color:Black T-top l Color:BlackEvaporator
| . For:GM : Dia: 0.062
; ; Dia: 0.072 .
1 | |
. ! ! |
RG-58126 RG-58130 ! ERG-5313 ! HGJ-E;‘;B132 L
TR | % W@ ( AUDI ' E | FE ;. £ ( HONDA) —_ - | W = -
AL : 9/16-18UNF . Ol S/BABUNE ; AL : 3/4-16UNF ; AL : 5/18-18UNF - . B
O : 3/4-16UNF ' O : 3/4-16UNF . O . 5/18-18UNF | HO : 3/4-16UNF | ! -y
TEMrEE : 7/16-20UNF ! g : 7/16-20UNF | Fi#738 : 7/16-20UNF | FEEE 0 7/16-20UNF .
e : OB . Bt : Ol | Botf : O | e |
S8 05T-2.5T ' SIS . 0.5T-2.5T i =S8 0 0.5T-2.5T | S48 0.5T-2.5T |
| f ! RG-68005 | RG-68006
Color:Darkgreen . Color:Red
Dia: 0,052 ! For:Ford
| Dia: 0.057
| BRI 03-07

F50Z-19D990-AB

T -

RG-68007 RG-68008
Color:Black Color:purple T-top
For:Ford For:Chrysler
RG-58133 RG-58134 1%-53135 RG-58136 Dia: 0.072 Dia: 0.062
EH B (GMW) A - BI72 ( BUICK) : EE
A : M20X1.5 M : 3/4-16UNF A : 3/4-16UNF A0 : M16x1.5
- M16X1.5 I : 5/18-18UNF €[] : 5/18-18UNF 0 - M20x1.5
T8 - M12X1.5 8138 - 7/16-20UNF F@EE : 7/16-20UNF FEEE - M12x1.25
Fof - Of Boft : OB A : OF! i : O =

FoaE BE RN SR S = = o o E - am - = e

HSE - 05T-2.5T IS8 - 05T-2.5T wliE  0.5T-2.57 =A@ - 05T-2.5T

; |
! ! RG-68009 RG-68010
: : Color:Blue Color:Yellow T-top
1 | : For:Ford Dia: 0.062
| ; " Dia: 0.067
| | |
: i — - : .
f ' ~y T I md L i
. . | Lo E_ ' : =
=R £ (BMW) f ER R (VW) : E=H . BRIk (MAZDA) ! EE . @B (GM) RG-68011 !
QEJ : 5/8-18UNF | EEI::I 1 5/8-18UNF ! gl:f 1 5/8-18UNF ! iﬁg : gﬁiggm ﬁiﬁlumﬁ .
0 : 3/4-16UNF ; [ : 3/4-16UNF : [ : 3/4-16UNF : . 3/4- '
ks ' . ' - 52 . 7/16- 4B0820177 . RG-68012
:ZI:EEE;EFEJ” 16-20UNF ; ;ﬁﬂﬂg 16720LINE i Eﬁ%’ 16-20UNE i Eﬁ%géﬂﬁ 2L Color:Yellow T-top ; GEO Orange Condenser
SIS 0.5T-2.5T : S8 : 0.5T-2.5T : S8 0.5T-2.5T : wlieE 1 0.5T-2.5T Al " Habte




|1

3 i 25 FIEFIZS

DRYING AGENT

SUZHOU ROGER AUTO PARTS CO-
Email:sale@szroger-cn E \RGFROST
: o i ETeTTe e ~3
1 ' : e R RREROERS *

RG FRO ST m %]E%Hiﬁ . %%jﬂ!ﬁ Focus on manufacturing,Keep onimproving

ORIFICE RUBE

| RG-69001 RG-69002
.—..e‘r _ I
— |
LT =N = = SEE—— | S —
= |
RG-68013 ' RG-68014 i : ;
Color:Yallow : Color:Green RG-69003 - RG-69004
For:VOLVO - For:Ford
Dia:0.062 | Dia:0.052 I :
—I | . m RG-69005 RG-69006
Color:Brown I White Eyaporator '
For:Ford ! !
Dia:0.072 | : 4
! ! RG-69008
; - :
<mmill v eI - el
: RG-69010 ! RG-69011
RG-68017 ! SClisaEi IEF.GBT BB GHIBtR=E2.0 GG E #3.0 : J&F:PDFH & 2L PPEEBAXTS
Whl;: Condensger : Gﬂléf:ﬂl’ﬂnﬂi T-top 132718 3? : 13277638
! For:Chrysler 1
e RG-69012 \ RG-69013
wed : | it F: XES R . 1EF:UJGLBES
—_ Ll p— =~ : 23134223 : 26687974
RG -68021 . RG68022 m u j FREHS RS EH BT
Color:Blue | Color:Orange T-top i
For:GM | For:GM RG-69014 ' RG-69015
Dia:0.067 : Dia:0.057 i.?i:ﬁ U%G L8 :
5 9074668 :
- " SRS E TR
. =i = ' F= e
| - =
; 130x20 230x20 290x20
RG-68023 I RG-68024
Color:Orange | Color:Orange 150x20 «40x20 300x20
For:Ford | For:Audi
Dia:0.059 : Dia:0.057 190x20 250x20 310x20
E 200x20 260x20 320x20
“ ! 210x20 270x20 330x20
Color:Grey Porous : Color:Grey Parous
T TR 5 RG-69009 AFFIEFIRTARIBEZSFPEREF |




RGFR TR 26 }%ﬁ\ }%b xl‘ﬂﬁﬂ
_ OS EiFFE - F55IKFE Focus on manufacturing,Keep onimproving coLD STORAGE, FROZEN SERIES

EDEZRS

SUZHOU ROGER AUTO FPARTS CO-
Email:sale@szroger-cn

 RGFROST

PRESSURE VALVE
| | : ' ' ' i |
| | i i | ] I [
| | i i ] ] [ |
| . . : . : | |
: : i : : , : :
| . ; ; | ; | |

RG-5900 : f | : : : | |

sa% - R134A | | . ; . : . .

I : 5/8UNF z i‘é‘?fgl ' * ' RG-5904 | | | |

HO : 3/4UNF | 23/ ! i v A : 3/8 . | | |

SMERE : 7/16UNF 012 ' RG-5902 ' RG-5903 WO 172 : : : :

ASHNNG : 4.5 /BB - SMEE C 1/4 ; - #IEH :R22 CGNE 14 : : ; ;

ENHIEER - 11.8Kw . I{efr/E : R22/R134a/R4A10A/, . BMER:17.60Kw . T{EST/E : R22/R134a/R410A/ . | | |

FABEEE - -30°C~+15°C ' RS507R404A/407C | | FERIEMEE : -40°C~+10°C ' RS0TRA04A/407C | t ! !
| | | | | | : |
: : : : . j | |
'- . . . | | : :
! : i : : . | ;
.I I | | . g I I
I [ | | b : I I
: : : : | : : :
i | [ [ 1 : I I

RG-5905 . RG-5906 - RG-5907 - RG-5908 - RG-5909 I : : :

wligHl - R22 , HliEH : R22 , & R22 | ESERE[E : DC24V | BREEERFE : DC24V ! : : :

SVUEE - 21.12Kw 1/2*5/8*1/4 ' SZUEE : 35.20Kw 5/8*7/8 | ZUEE : 35.20Kw 5/8*7/8 | THEME - R22/R134a/R410A/ ' T/ : R22/R502 | | | |

FERETE :-40°C~+10°C  FERBETH : -40°C~+10°C | FRBEEM : -40°C~+10°C 1 R507/407C | MEI{EED : 3.0MPa ; ,‘ : :
: ! ' BET{EED : 4.5MPa !

'. | | ‘ . ; ;
| | | - ~ | |
5 | | i i i i
[ L] i [ |

; ; ] .‘ . | |
i ' ; l| 1 : :
; | | | | | |
] ] | |

RG-5911 - RG-5913 : ! | ! !

RG-5910 & : R134a |YTEM C HIi&A c R134a [T  HSH c R134a |STET i : : | '

EEHEE : DC12V TEHAS - 3# - ARG - 3# - L RS 3 - ! | ; ' '

T{EfTEE : R22/R502 BNER :1.8-10.5Kw 5/8UNF, B T{F&ES : 3.0MPa . @ L{FED : 3.0MPa | . . | |

BEIEED : 3.0MPa FEABREEE : -30°C~+10°C + ERIBEEE : -40°C~+10°C + ZEEBETEE : -40°C~+10°C ; : | :

| | | | | | | |
i i [ | i i [ [
1 [ [ | i ] [ |
| | | | i ' i |
] ] I | ] I I I
L] ] I | i ] I |
i ; | | ; : | |
[ ] I [ 1 I [ [
i I | | L] i | |
i : | : i , | |
i : : : : : | |
] ] | | 1 (] I ]
| | i | I | \ i
2 t : | i I | i




A A A : - : SUZHOU ROGER AUTO PARTS CO-
. / LA W .3 T~ . |
ST BIH it - 55K rocus on manutacturing Keep o improving covt SabAGE Tedsinoians i Email:sale@szroger-cn £3 ) RRGHRO 3

i : : | f : :
] | | ] ] | |
;I | i | j— 3 i i ] i 3 : i
' | ! (Y - | =3 M |
: | l : : I ] I b3
| | | \—/ i I : e — - | o Kq '
: .' : : : : : :
RG-4500 | RG-4502 | RG-4503 i RG-4505 i RG-4506 RG-5542 » RG-5543 | RG-5544 . RG-5545 i RG-5546
SIZE:14.9%29.5 . SIZE:15.5*28 . SIZE:19*29.6 l SIZE:17.5*31.5 . SIZE:15.5%30%5.3 SIZE:10.45%14.7*19*41.9 , SIZE:10.38*17.820.9*45.9 ,  SIZE:10.3*15*19*43.9 | SIZE:12.2*43.9*14.8 |, SIZE:15.2*43.9%14.8
i : l : : l | :
i i | | [ | o |
| : : 0 : 1O | TRla
1 I I I ::" - ! ] ; ! .I ! ; |
| \// : | \:L* ' : : : ; : 13 \_/;
; l : : : : | :
i i [ | ] (] | |
RG-4507 i RG-4508 i RG-4509 i RG-4510 . RG-4511 RG-5547 . RG-5548 | RG-5549 : RG-5550 . RG-5551
SIZE:15.2%30*4 . SIZE:14.8*33.6*3 | SIZE:15*23.5 : SIZE:8*16 | SIZE'10.8*19 SIZE:7.8*15*18.8%*43.9 |, SIZE:9*21*21.4*47.8 : SIZE:8*17.8*19*43.7 SIZE:10.45*17.8*20.8*44, SIZE:10*17.9*18.5*43 .6
i ] | |
. r \ i
p ; : i i
4 i ] | |
i : l :
RG-4512 i RG-4513 ' RG-4514 ; RG-4515 | RG-4516
SIZE:17*25.3 : SIZE:5.8*13 .4 : SIZE:8.1*14.28 : SIZE:10.1*17.5 : SIZE:9%17.2
, : i i
: .' : : eieieie ol
' ; | | ols)elee
: . i i i st 1 e 7
i i | | Frad Pt B B
1 , ; ; IO
i i I | .."."n..q-!':- s '-5-:
i ! I I b JE%EE‘_FH_E.J
i i i i & ~ .,_-'.-:E:
RG-4517 i RG-4518 A RG-4520 i RG-4521 i RG-4522
SIZE:11.3%17.2 . SIZE:13.1*21 . SIZE:13.8*19.8 l SIZE:17%25.8 . SIZE:18*28

= o wm wm w

RG-4523
SIZE:14.7%22.9

F = =a = = - am = - = -
- - . - - = - = - =
I - -— o - o




\.RGFROST

Email:sale@szroger-cn

SUZHOU ROGER AUTO FARTS CO-

o

yal )

I

R, IRIREERY

Keep onimproving coLD STORAGE, FROZEN SERIES

FHIhiE - FEfacKFE Focus on manufacturing

.
i

RGFROST £

o = R

S e — - - [ —

m

=

=

=

o

[ns!

i

W ©

e =
o
—

o

s

a8 &

X =

#* =

T K m

wm B

= B

B

]

s

=

3

=)

W

L

M o

o

= S

il

L

=

=

3

i

W

#_.._..._

N

I co

x =
LM
~
=]

00 —

={

i B

& S

* =

K

B2

Z B W

- = - - R s - =

o S T T

nm
o
S <s
e
w1 B
x M
u,ﬁm
ok
* ==
2
U
e £
na
%
%S>
0 &2
1< 2
& B W
GH
oS
% 53>
P~
A< B
e £ ¥

RG-6#
FEARAMS*1.0
KESOMM(ER)

- W e 0 - o = - = s

= wm Em - =m0 s -

EME8*1.25

REL6MM (%)

FrINAIE

HME*1.25

KEL6MMEES)

RG-11#
GriAiE

- = = - = - = - - - = =
R R — - e e —

= - -— = = = = o = -

- e - o - o - = o

o W s 0w = - s b o

S —— - S SR — [—
- = = = - o = = = =
- o wm - w = o = - o - o w




	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	16
	17
	18

